Figure S1. Hazard Ratio by City per 13.3 ppb O, lag 0 days
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Figure S2. Pooled Hazard Ratio by Lag per 0.36 ppm CO

Lag day

0 = ! 0.968 [0.948, 0.988]
1 b = ! 0.980 [0.970, 0.990]
2 = 0.991 [0.981, 1.001]
3 . = . 0.998 [0.985, 1.010]
4 b = | 0.996 [0.987, 1.005]
5 f = ! 0.987 [0.979, 0.995]
6 ! = i 0.979 [0.959, 0.999]

0.942

I I i |
0.961 0.98 1 1.02

Pooled Hazard Ratio (95% Confidence Interval)



Figure S3. Pooled Hazard Ratio by Lag per 10.3 ppb NO,

Lag day
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Figure S4. Pooled Hazard Ratio by Lag per 7.4 pg/m3 PM, ¢
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Figure S5. Pooled Hazard Ratio by Lag per 2.9 ppb SO,

Lag day
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